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Topic:- General Knowledge

1) Hampi is the ruins of which empire in South India? /

g, ST WRa & 5w ATy o1 sERiv B2
1. Pallava / Uetld

2. Rashtrakuta / XT¥p T

3. Kakatiya / PHIHAT

4. Vijayanagar / fos R

Correct Answer :-

» Vijayanagar / fas TR

2) As per Census 2011, what is the average density of per square kilometer of Madhya Pradesh? /
SRTUMAT 2011 & SFER, T80 U & ufa @it fraitiey o1 oivid o w1 32

1.236

2.246

3.226

4.216

Correct Answer :-

. 236

3) Who among the following is known as the ‘Father of Modern Indian Sculpture’? /
fFafafaa @ 3 5 enyfie urda gfdear &1 w9 e se1amar 8?2

1. Jamini Roy / ElERIRE)

2. Abanindranath Tagore / g 1Y R

3. Ramkinkar Baij / IAfBHR S

4. Nandlal Bose / F&aTd a1

Correct Answer :-

« Ramkinkar Baij / IAfFHR S

4) Who has been appointed as the first woman Secretary General of Lok Sabha? /

ArpaUT B Ugel afgar verfua & wu A feas e fear mn @2
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1. Snehlata Srivastava / Q_&T‘I?ﬂ farg
2. Sindhushree Khullar / ﬁf%’}ﬁ Yok

3. Ratna Prabha / ¥d UHT

4, Kavery Banerjee / HIALT Sl

Correct Answer :-

« Snehlata Srivastava / Wgadl Hardd

5) Medical Science University is located at which of the following places of Madhya Pradesh? /

Afgra qrEg gfaRid ver uew & FafafEa # d Pa M w Ra @2
1. Jabalpur / SIe[cTYR
2. Gwalior / TaTfeRIR

3. Indore / 33 N
4. Bhopal / uard

Correct Answer :-

« Jabalpur / SId[cTYR

6) How many districts are there in Madhya Pradesh as on July 2018? /
T[S 2018 6 TeA W=T | fpa=t forat 32

1.42

7) What is the name of the cyclone which wrecked havoc in Kerala, Tamil Nadu and Lakshadweep in November
to December 20172 /

I ThaTd BT 19 7 8 R Tdar | faxiar 2017 A $v@, afreqrg ik derdiu # wex svumn
1. Ockhi / 37t

2. Vardah / d3q]

3. Nisha / =11

4. Maarutha / T dl

Correct Answer :-

« Ockhi / 3Nt

8) The style of decoration found in the Stupa of Sanchi in Madhya Pradesh is called .
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TG H il & ¥qU | ¢E |1 qrelt Forde B Aeft B1 CAAES I
1. Amaravati / FERTId
2. Gandhara / YR

3. Mathura / HYRT

4. Bharhut / HXgd
Correct Answer :-

« Bharhut / Hgd

9) Emperor Ashoka, before becoming a king, was the Governor of which of the following districts of the present-
day Madhya Pradesh? /

ST S | UG HHTC =M, A | 7 Y1 & fFafafad forel & & feasd Twaura &2
1. Shivpuri / W

2. Satna / Il

3. Ujjain / S

4, Ashok Nagar / 3LMH TR

Correct Answer :-

« Ujjain / I

10) Which one of the following companies has bagged the broadcast rights of ‘Khelo India’ School Games 2018? /
Frafafaa sufal & 3 fram @ sfear woa w1 2018 & TR ARFGR wrw fHe 32
1. Paytm / ﬂ?rtmr

2. Sahara / JeRT
3. Oppo/ KTt

4. Star Sports / E’R@\ﬁ

Correct Answer :-

« Star Sports / w@z‘}r

11) Bhagoria dance form is the cultural identity of which one of the following tribes of Madhya Pradesh? /
He Ueu o Frafifad sefaal # & feae) ditpfas tear Hrivar 7a A 82

1. Baiga/ T

2. Bhil / Hid

3. Saharia / ﬂBﬂ’CIT

4. Gond / T8

Correct Answer :-

« Bhil / Ht@
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12) Rani Lakshmibai of Jhansi battling against the British laid her life near Gwalior in the year .

3T & faeTe T arelt st &t I weiarg A arferr & ury af H 31y Sifa= viar faar Tl

1. 1860

2. 1857

3. 1859

4. 1858

Correct Answer :-

« 1858

13) Ujjain is situated on the banks of which one of the following rivers? /

fFrafafea & @ 5w 78 & 7c R I fREA 32
1. Godavari / TETa<!

2. Narmada / THaT

3. Shipra / f&mm

4. Chambal / I

Correct Answer :-

« Shipra / farom

14) CANCELLED

Which of the following is the first Indian city to have a logo? /

frafafaa # 9 S99 91 ugar sy § ST 3uAT < (e frge) 82
1. Hyderabad / %W

2. Mumbai / §¥s

3. Bengaluru / w
4. Delhi / feeril

Correct Answer :-

« Bengaluru / W

15) Bhimbetka rock shelters are located in which of the following districts of Madhya Pradesh? /
Aeuew & Frafafed # @ fea o # vindes Jaya fRa 82
1. Ratlam / X cITH

2. Chhatarpur / 9dX4X
3. Raisen / JTGY

4. Guna / T[T

Correct Answer :-
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« Raisen / IO

16) Akshardham temple situated in Delhi is dedicated to ./
e A fRa sigrumafer _ wYwwfia 3

1. Sahivites / g

2. Vaishnavites / JUIG

3. Swaminarayan / T AR

4. Shaktheya / RIS

Correct Answer :-

« Swaminarayan / SITHT TR0

17) Kalidas, India's immortal poet-dramatist, belonged to which one of the following places of Madhya Pradesh? /
YRT & 3R FA-ACH PR HIIg, AV & Fufif@a A A frarm@a s &

1. Sagar / IR

2. Rewa / 3l

3. Gwalior / TATfeRR

4. Ujjain / IS

Correct Answer :-

« Ujjain / 3=

Topic:- General Hindi

1) 3UAT Ie W1 BT GeTa¥ &1 3 g el A A P AT e
1. QIR D1 B FApTeT

2. 3T HTH (BT

3. 3T H1H AT

4. U1 BTH QT

Correct Answer :-

o (U1 DTH FebTerT

2) g & g wgt yataarh a1d 2eg! 3t ufed &1 gfw)
1. <o, gus, e

2. 3d, gus, e

3. a1, gus, Aoy

4. 59, gUs, Hdr

Correct Answer :-
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3) - F forg v WY fasde =t gfwl
1.§3+§'52T
2. g+
3. R4S
4, AU

Correct Answer :-

- G

4) AR F fore T wafgarh ara et Y ufed &) gfw
1. G2RTUTd, TUTRT, STeRTS

2. TATYUfcl, UlT=T, SaTeRTSl

3. JeTfct, GUTRT, SATeRTS

4. JATUTdl, U], SHTeRTSl

Correct Answer :-

5) At & forg wel wift fawye =t g
1. R+3al
2. TR+ %
3. TR+E%
4. :|3\f+37s{

Correct Answer :-

o THTH

6) Wiuga FWAgaMeEr R v I A s IR
1. YT
2. 3YdTd
3. YIRS
4. UYL

Correct Answer :-

7) gigar &1 Jx U FAH AT I B 32
1. Ggiel
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2. Jedl
3. ggdl
4. TTGdl

Correct Answer :-

8) M UGTAM AP d A I AR PTAR:
1. ey
2. UG
3. 3{UGHIT
4. 3

Correct Answer :-

9) <3G W TR TSAT YaTak &1 3 P e d A S ar e
1. QR B gl T BA

2. GG AT AT

3. §fG Y g1 o

4. §&1 DY BT

Correct Answer :-

. PEAT G

10) I HTA AR HIY F T HIIA SABT M |
T §aT & SR I AT g3 AFR W 1|

A A G A PR §?

1. &I 3ABR

2. AP 3ADR

3. XAV 3ABR

4. 3UHT 3[ABR

Correct Answer :-

. T STDR

11) 3% ¥4 BT RITA HIT /T 8?
1. ARSI

2. TREHT

3. fae_rer
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4. PY

Correct Answer :-

. BY

GET IT ON
Google Play

12) S+ BB TR Y G| Fad e T T8 geg I | - B g 3 A 919 11 R 32

1. U ADBR
2. JH® AABR
3. U 3D R
4. 3UHT 3ABR

Correct Answer :-

13) Y@ifpd’ 1 IE IS g FE A AP AT

1. 3@ IR Sifbd
2. 3@ ¥ sifdd
3.3 9 sifohd
4. 381 & forg sifdvd

Correct Answer :-

. @1 sifebd

14) S o1 0 § 9 o a1 98l faaiu 2 82
1. fasmg
2. TR
3. gfdorg
4. TRTSRI

Correct Answer :-

15) <fYr IUTT AT I FE AP A2
1. 3YDBRY
2. JfBHRY
3. 3GTHRI
4. AQIHR

Correct Answer :-



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

16) «3ffe ST A 71 Tk A A A BT AT 82
1. 3MTciRiad
2. ffafRe
3. 3MTfaRed
4. 3NN

Correct Answer :-

17) SRTRAY BT 9 & & S a1 98l faa wreg 82
1. T,

2. 3G

3. 3Gl

4. ST

Correct Answer :-

Topic:- General English

1) Choose the appropriate preposition for the given sentence.
I don’t mind travelling bus.

1. at
2. by
3. for

4. on

Correct Answer :-

2) Choose the appropriate preposition for the given sentence.
Their house is _____ the left side of the park.

1. at

2.in

3. over

4. on

Correct Answer :-

e On

3) Choose the appropriate articles to complete the given sentence.
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He looks as lost as ___ owl. However, heis ____ honor to this profession.
1. the, the

2.a,an

3.a,a

4. an, an

Correct Answer :-

4) Choose the most suitable determiner for the given sentence:

_____ Prime Minister welcomed the special guest for the Independence Day celebrations.
1. Some

2. Few

3. The

4. All

Correct Answer :-

o The

5) Choose the correct form of tense from the given options:
Umesh _ very fast when the traffic police tried to stop him.
1. was driving

2. driving

3. drives

4, is driving

Correct Answer :-

« was driving

6) Choose appropriate articles for the given sentence:

She switched off __ television, when __ movie she was watching, ended.
1. the, the

2. the, a

3.a,an

4.a,a

Correct Answer :-

« the, the

7) Give the noun form of the underlined word in the given sentence:
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The unite meeting was held in the office.
1. united

2. union

3. unified

4, unify

Correct Answer :-

e union

8) Choose the appropriate form of the verb to complete the given sentence.
She made the child ____ all the work.

1. do

2. will do

3. have done

4. has done

Correct Answer :-

« do

9) Choose the option with the appropriate punctuation inserted in the given sentence.
Professor Rao Head of the Department of English was recently felicitated by the University
1. Professor Rao, Head of the Department of English, was recently felicitated by the University.
2. Professor Rao, Head of the Department of English: was recently felicitated by the University.
3. Professor Rao Head of the Department of English; was recently felicitated by the University.

4, professor Rao head of the Department of english was recently felicitated by the university!

Correct Answer :-

« Professor Rao, Head of the Department of English, was recently felicitated by the University.

10) Choose the option with the appropriate punctuation inserted in the given sentence.
Andrew the sales manager was sick

1. Andrew, the sales manager was sick!

2. Andrew, the sales manager, was sick.

3. Andrew the sales manager, was sick.

4. Andrew the sales manager was sick.

Correct Answer :-

« Andrew, the sales manager, was sick.

11) Choose the option that best transforms the given sentence as directed:

GET IT ON

Google Play
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Sleep deprivation leads to poor health. (Question tag)
1. Sleep deprivation leads to poor health, isn’t it?

2. Sleep deprivation leads to poor health, can it?

3. Sleep deprivation leads to poor health, will it?

4. Sleep deprivation leads to poor health, doesn’t it?

Correct Answer :-

« Sleep deprivation leads to poor health, doesn’t it?

12) Choose the most suitable conjunction for the given sentence:
____the news is true, then what happened is not surprising.

1. If

2. And

3. But

4. Because

Correct Answer :-

o If

13) Choose the correct form of modal auxiliary verb for the given sentence:
I sincerely wish you get the medal.

1. will have

2. could

3. shall

4, would

Correct Answer :-

« would

14) Choose the correct form of verbs that is in agreement with the subject:
Here _ what each house team _____ to do for the competition.

1. 1s, are

2. 1s, has

3. are, have

4. are, has

Correct Answer :-

e is, has

15) Select a suitable prefix from the given options to complete the given sentence:
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Though Ptolemy's theory was __correct, at the time, nobody contested it.
1. anti-

2. dis-

3. un-

4. in-

Correct Answer :-

16) Spot the error in the given sentence:

All the dresses are beautiful but this one is the more beautiful.
1. But this one

2. All the dresses

3. Is the more beautiful

4. Are beautiful

Correct Answer :-

« Is the more beautiful

17) Fill in the blanks with the present perfect tense of the verb from the given options:
The tourist his wallet recently.

1. lost

2. had lost
3. has lost
4. have lost

Correct Answer :-

e has lost

Topic:- General Maths

GET IT ON

Google Play

1) Sukesh earns a salary of Rs. 10000 per annum. If his salary is increased by 14%, then how much will he earn

per annum? /

ﬁmloooomaﬁm%mﬁmamﬁ 14% 31 gf Bt 8, 99 98 ufaad feamn sifvta

1. Rs. 10800 / 10800 ¥UU
2. Rs. 10400 / 10400 24U
3. Rs. 11400/ 11400 >UUQ

4. Rs. 10700 / 10700 ®UU

Correct Answer :-
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« Rs. 11400/ 11400 ¥YU

2) The simple interest on a sum of money for 2 years at 8% is Rs. 1200.What will be the compound interest on that
sum at the same rate and for the same period? /

8% 13X A 2 IuT & 1T Tp YFRTIRT BT ATYRUT AT 1200 FUT g | THH &3 UR UF A 3fafy & forg I=ht
MR BT Teh g ST T ERM?

1. Rs. 1248 / 1248 34U
2. Rs. 2496 / 2496 34U
3. Rs. 8748 / 8748 ¥UU

4. Rs. 3744 / 3744 >UQ

Correct Answer :-

« Rs. 1248 /1248 >UU

3) The square root of 64 divided by the cube rootof 64is ./

64 & TS BT 64 F ¥ G gRT fAuTRg A R ST 1
1.2

2.1

3.32

4. 16

Correct Answer :-

4) Write the following numbers in ascending order:

0.63, 0.633, 0.603, 06 0.06 /

fru demnai i s v A fifew:

0.63, 0.633, 0.603, 06 0.06

1.0.06, 0.6, 0.603, 0.63,0.633
2.0.633, 0.603, 0.63, 0.06, 0.6
3.0.603, 0.63, 0.633, 0.6, 0.06
4.0.633, 0.63, 0.603, 0.6, 0.06

Correct Answer :-

« 0.06, 0.6, 0.603, 0.63,0.633

5) 8064 apples were packed equally in 32 boxes. How many apples were packed in a box? /

8064 T, 32 TR & UM ¥9 A IF fHT ¢ V| v 7 & $a fra- 9 U frr mw?

1. 202
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2.222
3.250
4,252

Correct Answer :-

o 252

6) Find the simple interest on Rs. 2500 for 2 years at 12.5% per annum. /
12.5% Ufa 9 UR 2 I1a & fore 2500 FUT UR ATYRUT TS FAPTRU|
1.Rs. 250 /250 94U

2.Rs. 315/315%4Ud

3. Rs. 500 /500 ¥YU

4. Rs. 625 /625340

Correct Answer :-

« Rs. 625/625%UU

7) Find the L.C.M. of 72, 40 and 135. /
72,40 3R 135 BT TYTH GHYTH 1|
1. 108

2. 288

3. 1080

4. 135

Correct Answer :-

« 1080

8) Which is the greatest four digit number that is exactly divisible by 15, 32, and 48? /
I T3 AR S B ITAT B A ? S 15, 32 3R 48 GRI T a9 A TSI 72
1. 9980
2. 9896
3. 9600
4. 9988

Correct Answer :-

» 9600

9) A rectangular field is 45 metres long and 20 metres wide. Find the cost of fencing the field at the rate of Rs. 40
per metre. /
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TP SMAATDIR & 45 Hiex adT 3ii¥ 20 HieT FIST 81 40 TUT Ui Hiex B &3 W &7 WR I18T T D dRTd
IGEaInd

1. Rs. 5200/ 5200 U4
2. Rs. 2500/ 2500 ¥4UT
3. Rs. 3600 / 3600 ¥UT
4. Rs. 4000 / 4000 »UU

Correct Answer :-

« Rs. 5200/ 5200 >UQ

10) CANCELLED
Simplify:
84 — 7[—11x— 4{—17x + 3(5x— 1)}]

Wa‘ﬂﬁﬂ'{:

84 — 7[—11x— 4{—17x+ 3(5x— 1)}]

1. 19%

2.15%

3.27x
4.21%

Correct Answer :-

. 21%

11) Find the least number of square tiles required to pave the floor of a hall 20m 20cm long and 12m 40cm broad.

/

20 Ht 20 I @9 3R 12 WY 40 A 12 5T &1 B oM F oW sraxas oif ergal @ YHaw GBI I
Fiforg|

1. 6262

2. 1002

3. 600

4. 4200

Correct Answer :-

* 6262

12) If the arithmetic mean of 7, 6, 12, *and 9 is 10, then the value of *is i

afe 7,6 ,12, * 3R 9 &1 YHIGR HIA 10 g, af * 177 2l

1. 14
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2.12
3.10
4,16

Correct Answer :-

o 16

13) Find the valueof (372 +4™ 1)1 =771/
(371 +4H) 1+ 771 & AW TG W

1.7

2. 14

3.12

4.49

Correct Answer :-

14) The numerator of a rational number is less than its denominator by 10. If the numerator is

5
increased by 12 and denominator is decreased by 3. then the number obtained is i _ Find the

rational number. /

e TRET TEAT & I 596 g T 10 FA §1 afe e & 12 & gig & o &
amaﬁSﬁrm#mﬁmmﬁmg 2 IfeT §Em g Sl

19

1. 29

i
4, 31

Correct Answer :-

15) The number 4.789 X 1072 given in standard form when converted to usual form is: /
Aleeh &9 & & 15 AT 4.789 X 107% & o9 AT &7 & gRafda f&ar amar g,
de ot |§E g

1. 0.04789

2.4789000
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3.0.004789
4. 0.0004789

Correct Answer :-

» 0.004789

16) Factorize:
xy(p® +q?) + pa(x* +y*) /
AUTES
xy(p® + q*) + pa(x* + ¥%)

L. (px + qy)(py + gx)

2. (px +q)(qy + p)

3. (pq + xy)(px + qy)

4. (x+y)p+q)

Correct Answer :-

« (px +qy)(py + qx)

17) )
The sum of unit fractions of E will be: [

T & sors @iet T AT gem:

12

Correct Answer :-
1 1
el

Topic:- General Aptitude

1) There are 12 points in a plane out of which 5 are collinear. Find the number of straight lines formed by joining
them. /

T gHad ¥ 12 fig & R @ 5 W 71 3% Siesy gt wit weft Y@ @t v i)
1.67
2.62

3.52
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4. 57

Correct Answer :-

e 57

2) 527+50.27+5.0027+0.527 = ?
1. 562.7997
2. 582.7997
3.572.7997
4, 552.7997

Correct Answer :-

» 582.7997

3) If JOKER is coded IMHAM, then how is SHAHRUKH coded? /

Tfe JOKER & IMHAM & =0 § I3 farar ora1 €, 9t SHAHRUKH &1 33 Sifsd fbar smem
1. REXFMODB

2. RFEYENDOZ

3. REXENODZ

4. RFEXDMODZ

Correct Answer :-

« RFXDMODZ

4) From a pack of 52 cards, two cards are drawn together at random. What is the probability of both the cards

being queen? /

szu?ﬁmgf TSP TSI $1 F, DS FU A ¢ T TH 1Y fAera 11 341 vl & I+ 811 & r
TR T 82

4.
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Archit purchased 130 shirts and 240 trousers @ Rs. 440 and @ Rs. 540 respectively. What should be the overall
average selling price of shirts and trousers so that 30% profit is earned (rounded off to next integer)? /

I 7 130 TS 3N 240 TFER FUIM: @ 440 FUY 3R @ 540 FUY & WS | e 3R ISR F1 Fal T
e yea ar g1 iR a1fe 30% Y Sifvfa frar =i 9% (@rTa quife & Jara 99)?

1. Rs. 655/ 655 %UU
2. Rs. 653 /653 34U
3. Rs. 654/ 654 2UU
4. Rs. 656 / 656 ¥UU

Correct Answer :-

« Rs. 656/656 34U

6) In a class, there are 60 students and their average weight is 52 kg. When a student leaves the class, the average
is reduced by 150gm. Find the weight of the student who left the class? /

TP BETH 60 BT & 3R ITHT T a9 52 fPANUTH 8| 519 BIS BT B&T BIS ¢dT 8, al 3 150 IH dF
PY Bl SITdT 3| BT BIS aTd BT BT aoI JTd HI3?

1. 60.55 kg / 60.55 fpamm
2. 60.85 kg / 60.85 foraamd
3. 60.75 kg / 60.75 foraumd
4. 60.65 kg / 60.65 @

Correct Answer :-

. 60.85 kg / 60.85 famma

7) A merchant has 2000 kg of sugar, part of which he sells at 8% profit and the rest at 18% profit. He gains 14%
overall. The quantity sold at 18% profit is .

T ATIRT & U 2000 freumd H+1 8, ST9% U YR 3 98 8% ATH 3R AV BT 18% TTH UR JIdT &1 98
PA 14% ATH AT HRAT S| 18% AH W AN TS AT B

1. 1400 kg / 1400 famamd
2. 800 kg / 800 fa@mmA

3. 1000 kg / 1000 faamma
4. 1200 kg / 1200 fopatiamd

Correct Answer :-

. 1200 kg / 1200 fopaam®

8) A man buys an article for Rs. 750 and sells it at a profit of 8%. Find the selling price. /

TS HAfHR 750 FUT | TP a¥g TG 3 3R IH 8% & a1Y W 9=ar ¢ | fasra g fwifer)
1. Rs. 820/ 820 94U

2. Rs. 800 / 800 ¥YU

3. Rs. 810/ 810 YU
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4. Rs. 840/ 840 2UU

Correct Answer :-

« Rs.810/810%UU

9) A train passes a pole in 20 seconds and passes a platform 100 meter long in 30 seconds. Find the length of the
train. /

TP ¢ 20 AP S 0 TH Y B IR HXdl g 3R 30 b3 H 100 WeR @9 Wewid & TR Fd 31 7 St daTs
Td PIfeTE?

1. 400 m / 400 Hiex
2. 100 m / 100 Hiex
3.200 m / 200 HIcR
4.300 m / 300 HleR

Correct Answer :-

« 200 m /200 iR

10) One quantity of wheat at Rs. 9.30 per kg is mixed with another quantity at a certain rate in the ratio 8:7
respectively. If the mixture so formed be worth Rs. 10 per kg. What is the rate per kg of the second quality of
wheat? /

9.30 ¥UA Ufd frame arat g &1 7 & foet i ov W o/ |71 & |1y Hus: 8: 7 3rura § fyeman
wiTaT 8 1 afe fAifa frsor 31 Ftaa 10 T wfa feamg @ & 98 &t ot Juraan @1 ufd feama e | g2

1. Rs. 10.60 / 10.60 3T
2. Rs. 10.50 / 10.50 Y
3. Rs. 10.80 / 10.80 3T

4.Rs. 10.70 / 10.70 ST

Correct Answer :-

« Rs. 10.80/10.80 TY

11) A box contains 4 white, 5 red and 6 yellow balls. A ball is drawn at random from the box. What is the
probability that the ball drawn is either white or red? /

TP J1a9 | 4 g, 5 ATa 3 6 N T 1 1S 21 9 A A TP U FH) T T 11 IST ol Sl g1 /T
WiREar g f5 318 18 Wi a1 aY Wikg g a1 ara?

L | | k2 ko | Ln

PSR VY
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Correct Answer :-

L | L2

12) Govind is 45 years old and Gopal is 65 years old. How many years ago was the ratio of their ages 3:5 respectively?

/

Tdg 45 76 BT 3R MUTE 65 T4 F1 3 | fHa- T Uga STHT TG HT U HH: 3:5 UT?
1. 15 years / 15 a4

2.37 years /37 AN

3. 20 years / 20 Y

4.5vyears /5 dY

Correct Answer :-

e 15vyears/ 15 G

13) The sum of the ages of Uttam and Praveen is 100 years now. 5 years ago their ages were in the ratio of 2:1
respectively. What will be the respective ratio of the ages of Uttam and Praveen after 10 years? /

Fa™ B I MR WA P 3R BT AT 100 9 1 5 a9 UgA ITHT ST HH: 2:1 F SUId A M1 10 qwf &
TG 39 3R U Ft 31y &1 Taflra Srgura w1 g2

1.4:3
2.3:5
3.10:7

4.5:3

Correct Answer :-

14) A car does a journey in 20 hours. It travels the first half distance at 42 km/hr and the rest at 48 km/hr. Find
the distance. /

TS BR 20 Ul B AT 00 Bt 3 1 e e &1 guw aneh g&t o1 42 fomftder w @ fean siran @ ok w &t
48 forft/eier W o o Siran 81 g8 sasUl

1. 906 km / 906 Tt
2. 876 km / 876 fobeit
3. 896 km / 896 fabut
4. 886 km / 886 fobuil

Correct Answer :-

« 896 km / 896 foHT
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Study the following information carefully to answer the question.
3DKSP27#@4TTHO9*FMER15% 768
What will come in place of question mark (?) in the following series based on the above

arrangement”’

KPD 7Tm2 () *M9

T2 & 3ok &of & folv ToieaAfolf@d SITeaiT &f dasmigds 9e|
3DKS$SP27#@4JTHO9*FMR15% 768

3udead caael & AR W @Fd Auer d wd Hed @) & T W T ARE?
KPD 7@2 (2) *M9

1. RT@
2. TH@
3. 4T#
4. JH4

Correct Answer :-

- JH4

Topic:- General Computer

1) In the MS Word 2007, the up arrow key moves the cursor in which of the following directions? /
THTH T8 2007 #, 377 TN Y, FER $I Frafaraa # & fow fGzn # & ot 32

1. Left / 9TU

2. Right / GTQ

3. Upwards / $HUX P 3R

4. Down / HTdl

Correct Answer :-

o Upwards / HW P 3R

2) Keyboard, scanner and microphone are examples of: /

BIaTS, TR IR ATTHIGH $HP IaT6X o
1. Processing Unit / PIBIEH qﬁ'c’

2. Input Devices / g19¢C %GTEF
3. Storage Media / S Hifgar

4. Output Devices / T3cYc feargy

Correct Answer :-

« Input Devices / RTYC %?ﬂgg

3) To start a new paragraph in MS Word 2007, we need to press the key. /

THTY 73 2007 § TP 74T WRIMTH Y& H1 & forg, g P B ST BRI
1.End /TS
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2. Delete / TSdile
3. Home /@1:[

4. Enter / U}

Correct Answer :-

« Enter/ U}

4) In MS Word, superscript, outline and strikethrough are said to be ./
TATH T8 H, GURTGPY, ATSTATST IR WISHY DI FgIwErgl

1. Text effects / CRE W

2. Font effects / I s'm

3. Word effects / TS gm

4. Complex script / PR @V_E

Correct Answer :-

« Font effects / BIT gm

5) In MS Excel 2007, Excel can make somewhat of an intelligent decision on its own and determine which cells of a
row or column should be "summed". This feature is called

THTH TR 2007 8, TRIT 30+ 31T A TH ST aP FhaaT=t U1 fofa @ gar g ok a8 Fuifa o
Todl ¢ f e A &1 19 W A a1 Hraw ) RS I Fie1" 81 59 Bk B HEISAET 81

1. AutoExecute / &ﬁan‘&sﬂaq:c’
2. AutocCorrect / 3TCIHaT

3. AutoSum / 3{TCIIH

4. AutoMode / 3{TCIATS

Correct Answer :-

« AutoSum / 3ffergH

6) In MS Excel 2010, symbol should be entered before inserting a formula. /

THTH TR 2010 H, BTHAT gof B o Ugdd ydte g6l fpar s TRyl
1. ‘=’

2.5y

3. Ctrl’

4. ‘Alt+=’

Correct Answer :-
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THUH T 2010 H, I 1 gles HYdl B
1. Formula only / &Had Wl\l'li?ﬂ

2. Single value only / Fad R aﬂ

3. Label only / Had aad

4. All of the above / SURTGd THY

Correct Answer :-

« All of the above / SURTad gHt

8) In MS Excel 2007, a slash or hyphen (minus sign) can be used to separate .

THTY TR 2007 H, T AR AT g1 (BT fag) &t ST HIA & T uge far s gwar 21
1. Day only / ad f&

2. All of the above / JURTeT GHT

3. Month only / dd HgH

4. Year only / ad a9

Correct Answer :-

« All of the above / SURad gHt

9) In MS Excel 2007, the feature allows you to select rows and/or columns which contain labels that you
would like to repeat at the top and/or left side of each printed page. /

THTY TR 2007 H, W MUP! 3 3R/ HIaH HI Aade P B SJA T 8 o daa
MY gia & o 3y vl fiids 9w & <11 3iiv/AT 91 W15S R glev = arg il |

1. Reference Tiles / RBIT € EISS|

2. Print Tiles / ﬁ_C'ETQ’F\‘:[
3. Print Area /ﬁ’cr QIQCII

4. View Tiles / o Clgey

Correct Answer :-

« Print Tiles / fiie FESS

10) In MS Excel 2010, each cell has its own ./
THUH TR 2010 H, TS Aol BT U1 gl
1. local address /WQ@? (RJT-TT Tl

2. port address i Q@g

3. distinct address / f$Réae Qg'{:[ (ﬁ'&f&i’ qdn)
4. permanent address / RHAC @H @I’Rﬂ qdn)

Correct Answer :-

« distinct address / Feféde gy (fafkree uan)
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11) In MS Excel 2010, the shortcut key used to select an entire column in a worksheet is: /

THUH T 2010 H, THIIIC § TP [ SIa¥ B AT $A & 1T ST 1 94 a1l Aéde Bl 6
1. CTRL+SHIFT+SPACEBAR

2. CTRL+SPACEBAR

3. CTRL+SHIFT+A

4. SHIFT+SPACEBAR

Correct Answer :-

« CTRL+SPACEBAR

12) In MS Word 2010, the shortcut key used to create a new documentis_ ./

THTH T8 2010 #, T 141 SIAGHE 99H & Qg ST St S areft Aidwpe $1_ 7
1. Alt+D

2. Alt+N

3. Ctrl+D

4. Ctrl+N

Correct Answer :-
o Ctrl+N

13) In MS Word 2010, ‘Find' command can help us to find o/

THEY TS 2010 B, 'BIES' HHIS I WivA # §ARI AGg HY Aol 8l
1. Texts only / $Hdd CRC

2. Equation only / Had GHIDHR

3. All of the above / JURTE FHI

4. Images only / Had gﬂﬁ

Correct Answer :-

« Texts only / Fad R

14) How many ribbon tabs are there in MS Word 2010? /
THEN 93 2010 ¥ fraa Re ea 32

1.7

2.9

3.6

4.4

Correct Answer :-
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15) What is the maximum zoom value in MS Word 2007 documents? /
TATH TS 2007 STRAE A fUHad JH d=] R 7?2

1. 100%

2.250%

3.500%

4.300%

Correct Answer :-

* 500%

16) RAM stands for: /
0 BT QUi FU B:

1. Readable Access Memory / ﬁ@mﬁﬁ Qﬂ"\ﬁﬂ AR
2. Random Allotted Memory / m Eﬂﬁg w

3. Random Access Memory / 389 Qﬂ’\ﬁg TR

4. Real Action Memory / Raa Ter™ TR

Correct Answer :-

« Random Access Memory / X&H UaRI HHRT

17) Which of the following is the simplest and earliest computing device? /
frafafea # & 9od o ik vad R Ffen fSagy o7 4t 32
1. Slide Rule / &g S =1

2. ABACUS / T8 d

3. Calculator / W
4. Calculating Machine / Wﬁﬁ N

Correct Answer :-

« ABACUS /Ty
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